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Q.1
ded $ Ui @ 1uET B afe 95 9V dedt 0,14 U Rl g
a) 900Q
b) 90Q
c) 9Q
d) 90000
Ans X A a
o B.b
X C.c
x D.d

Question ID : 1703222375
Status : Answered
Chosen Option : B




Q.2

i il 7 < o1 g ver] Fafifad 2

a) dlecdl dHid

b) I dieedl URd S

¢) amgfd alecar d gargul o) grd der
d) SWdd A Y IS el

Ans X A a
« B.b
X Cc
X D.d
Question ID : 1703222398
Status : Answered
Chosen Option : B
Q.3
Fusing Factor is...
a) Minimum Fusing current /Rated current
b) Maximum Fusing current /Rated current
¢) Rated current / Minimum Fusing current
d) Rated current / Maximum Fusing current
Ans @ Aa
& B.b
X C.c
/2 D.d

Question ID : 1703222352
Status : Answered
Chosen Option : B




Q.4

With load on transformer reduces, following losses are reduced
a) Eddy current losses.

b) Hysteresis losses

¢) Iron losses

d) Copper losses

Ans X A a
X B.b
X C.c
" D.d
Question ID : 1703222344
Status : Answered
Chosen Option: D
Q.5
Tiiee o' & ury uferlel &1 wgrar Gl
a) +5%
b) +20%
c) +10%
d) £15%
Ans # Aa
& B.b
X Cc
X D.d

Question ID : 1703222374
Status : Answered
Chosen Option : A




Q.6

Metal used for plate type earthing

a) Copper
b) Silver
¢) Aluminum
d) Gold
Ans A a
X B.b
K Cc
X< D.d
Question ID : 1703222378
Status : Answered
Chosen Option : A
Q.7
o1 UfeRIe®dr & A9 § 4-fdg A @t MHgd &
a) dRAQ
b) dRdfa
o) dmdfa
d) disdifa
Ans # Aa
X B.b
X Cc
& D.d

Question ID : 1703222384
Status : Not Answered
Chosen Option : =




Q.8

TR & GEiaT & g ISP T T {5 ST 6
a) PRI Ud Tdul
b) $HAI UG TaDH

¢) Tt fiet ud @
d) Tl ffret v eaemr

Ans @ Aa
X B.b
X C.c
& D.d
Question ID : 1703222377
Status : Answered
Chosen Option : A
Q.9
When 3 phase system is balanced, the neutral wire carries
a) No current.
b) Half of phase current.
¢) 1.732 times of phase current.
d) One third of the phase current.
Ans o A a
X B.b
X Cc
& D.d

Question ID : 1703222349
Status : Answered
Chosen Option : A




Q.10

Select the correct option from following with reference to resistivity of the material in

ascending order.

a) Copper, Silver, Tungsten, Aluminum
b) Silver, Copper, Aluminum, Tungsten
¢) Aluminum, Copper, Tungsten, Silver
d) Copper, Aluminum, Silver, Tungsten

Ans X A a
& B.b
X Cc
X D.d
Question ID : 1703222389
Status : Answered
Chosen Option : B
Q.11
U Pscil H 1000 TRIS & did & dR DT U HIE & 1.6 mm? g | dscll dl adlg 1000
. 3R e B URRIEEHA 0.02 pQ-m ¢ | sl BT UfoRIY Farg
a) 20mQ
b) 200
c) 20KQ
d) 20MQ
Ans X A a
& B.b
X Cc
X D.d

Question ID : 1703222393
Status : Not Answered
Chosen Option : =




Q.12

Conductor combining function of both protective conductor and neural conductor

a) Protective Earth and Neural conductor
b) Passive Earth and Neural conductor
¢) Pulse Earth and Neural conductor

d) Positive Earth and Neural conductor

Ans A a
X B.b
K Cc
X D.d
Question ID : 1703222385
Status : Answered
Chosen Option : A
Q.13
TRade | Ha URT g & 5P g HH L AP g &
a) UeTH P HeTs B SIGT IR W
b) T Bl HIEE B HH B T
¢) 3= ol dR Aigd psierd BT psad
d) IaHHY uRuY T 9Rg SiaRTel &I HH HIH TR
Ans X A a
& B.b
X Cc
X D.d

Question ID : 1703222346
Status : Answered
Chosen Option : B




Q.14

qreR €ifSrer, &1 Rid A Ao g

a) o9

b) uffeR

¢) PdgeR

d) ¥ ud ufieR

Ans X A a

& B.b

o« C.C

X< D.d

Question ID : 1703222370
Status : Not Answered
Chosen Option : —

Q.15

In order to increase the ampere- hour rating of a battery, the cells are connected in:
a) Star

b) Delta

c) Series

d) Parallel

Ans X A a
X B.b
X Cc
o D.d

Question ID : 1703222351
Status : Answered
Chosen Option : D




Q.16

Tz aftaey arafeT & SrHd: dY S @ 3 g

a) @ wmi fufaal 1 dy fufa 7 diud s gar gl

b) oid Ra Ssdll o fagerifad faar o g de dud gerdr @
o) oId el el B et fbar ol § a9 Jud Fadl g
d) o9 el el ol faSiad fama Smar § aF ud §¢ g g

Ans X A a

& B.b

o« C.C

&< D.d

Question ID : 1703222365
Status : Answered
Chosen Option : A

Q.17

3-TR BT AGUR M5 YRT, 3 HP (BRIUMR), 415 V, 50 Hz [&paval $1 SSaM Hie 371 0.8
R SHINT AT plhnnnssssn

a) 62A
b) 3.80A
) 45A
d) 330A

Ans X A a
& B.b
K Cc
X D.d

Question ID : 1703222354
Status : Answered
Chosen Option : A




Q.18
T =TT TURE ATeR T WeE © U

a) Ol fd & 3R UR TS &I GHA BT
b) U [FEvsd B

) &TECI Pl e
d) il i
Ans X A a
« B.b
X C.c
X D.d
Question ID : 1703222361
Status : Answered
Chosen Option : B
Q.19
28R Al & YOS DI o
a)  gedTe T1id & o
b) deudbral Tfd g Sarel
¢) eIl 1 4 B
d) 3myfef ermaw oMk TSt @t T o Freffa
Ans X A a
X B.b
o« C.c
X D.d

Question ID : 1703222356
Status : Answered
Chosen Option: C




Q.20

Common emitter configuration is mostly used in amplifier circuits because of its

a) Very Low input impedance and high voltage gain

b) High input impedance and voltage gain less than one

¢) Moderately High input impedance and high voltage gain
d) Low input impedance and low voltage gain

Ans X A a
X B.b
o C.C
X D.d
Question ID : 1703222369
Status : Not Answered
Chosen Option : —
Q.21
1771 H 2 A i1 AT BT &0 W BT ATS 2
a) Y URgY f[awsed
b) fafaufoy dsses
¢) gAdH dd URuy fawbas
d) arguluy Aades
Ans ¥ A a
X B.b
X Cc
X D.d

Question ID : 1703222353
Status : Answered
Chosen Option : A




Q.22

When a 1MQ resistor is connected in parallel to 1K< resistor, resultant value will be

a) Nearto 1IKQ
b) Near to IMQ
¢) Nearto 10°Q
d) Near to 0Q

Ans @ Aa
X B.b
K Cc
X D.d
Question ID : 1703222372
Status : Answered
Chosen Option : A
Q.23
fagly 231 yHR & Aed B JaIHR Tl UHR & Ve B g H e
a) oI H Slerayn el dars | 981
b) o H g7 9T & das | sier
c) g YUl el ders H §el
d) =g qun sl dars 1§ rer
Ans X A a
& B.b
X Cc
X D.d

Question ID : 1703222363
Status : Answered
Chosen Option : B




Q.24
U H U 1 3 ® -

a) Tfd®l dgHl

b) ERTE & gHUR U B GRI&T 1@
¢) AU 21U Bl Iaud DAl

d) oG B B S

Ans X A a

& B.b

o C.C

&< D.d

Question ID : 1703222360
Status : Answered
Chosen Option: C

Q.25

%w@m@aﬁmz&vwmﬁsaﬁmzzov%ﬁaﬁawaﬁmﬁw

a) 4.5%
b) 113%
0 2.8%
d) 10%

Ans X A a
X B.b
K Cc
& D.d

Question ID : 1703222342
Status : Answered
Chosen Option : D




Q.26

A 6 pole lap wound generator has 300 conductors, the emf induced per conductor being
5 V. The generated voltage of the generator is

a) 60 Volts
b) 1500 Volts
c) 360 Volts
d) 250 Volts

Ans X A a
X B.b
X C.c
" D.d
Question ID : 1703222341
Status : Answered
Chosen Option : B
Q.27
- Pigfhed
a) YD e euf
b) wifd s
c) Sfigd
d) afa sifiarg
Ans X A a
& B.b
X C.c
« D.d

Question ID : 1703222400
Status : Answered
Chosen Option: D




Q.28

Relationship between peak value and RMS value of sinusoidal current
a) Lm=Ip/1.414
b) Lms=1I, ¥1.414
€) Ip=Toms *2

d) Lo Loms /2

Ans @ Aa
& B.b
K Cc
& D.d
Question ID : 1703222380
Status : Answered
Chosen Option : A
Q.29
Variable resistor in a circuit is known as
a) Potentiometer
b) Chip resistor
¢) Wire wound resistor
d) Metal film resistor
Ans A a
X B.b
X Cc
X D.d

Question ID : 1703222373
Status : Answered
Chosen Option: C




Q.30

Symbol for resistivity of conductor is
a) p
b) Q
c)
d p

Ans @ Aa
X B.b
K Cc
X< D.d
Question ID : 1703222383
Status : Answered
Chosen Option : A
Q.31
HIY Sl RS & fe1U gl Sfia=dd e Iucis $rdl o
a) SHls AU
b) diecdl HIY
¢) TR 9
d) «RITgA
Ans X A a
X B.b
« C.c
X D.d

Question ID : 1703222382
Status : Answered
Chosen Option: C




Q.32

4 TIH AT T 1800 r.p.m TR U WG §RT S aleedl @1 3Mai &

a) 60Hz
b) 120Hz
¢) 7200Hz
d) 450Hz

Ans A a
& B.b
X C.c
& D.d
Question ID : 1703222362
Status : Answered
Chosen Option : A
Q.33
Ratio of maximum energy stored to the energy dissipated is called
a) Q factor
b) Power factor
¢) Form factor
d) Peak factor
Ans A a
& B.b
X C.c
X D.d

Question ID : 1703222394
Status : Answered
Chosen Option : A




Q.34
gfe aumF sg i RufRii er g al Rl glare

a) YT AT Ul
b) BUIETD AU I0MD
¢) eyt ammrE unis
d) A dIYHH Ui

Ans X A a

« B.b

X C.c

& D.d

Question ID : 1703222371
Status : Answered
Chosen Option : B

Q.35

Ueh oAfdkd b galfded dbeet JULNT Pd aad gelfdeed Al I 81 5 BT BRI o

a) ROy H WS aR P SgAd T §
b) vEIed dlcedI HH G

¢) Hed Pl Y HIb T ¢

d) deadudadigl

Ans X A a
X B.b
o« C.c
X D.d

Question ID : 1703222348
Status : Answered
Chosen Option: C




Q.36

it iR T & oTT e R 7 < SHuRd BIe &5 ®
a) 1 mm?*
b) 1.5 mm?
¢) 2 mm?
d) 2.54 mm?
Ans # Aa
X B.b
X Cc
X D.d

Question ID : 1703222397
Status : Answered
Chosen Option : A

Q.37

Ans X A a
& B.b
X C.c
/2 D.d

The distance between two adjacent teeth of hacksaw blades are as
a) Specitications of the blade

b) Pitch of the blade

¢) Size of the blade

d) Designation of the blade

Question ID : 1703222347
Status : Answered
Chosen Option : B




Q.38

a1 JHfaIg v $ fere ua.ans. gfe dur g
a) d&R
b) <l
¢) T
d) dlee

Ans X A a
' B.b
X C.c
& D.d
Question ID : 1703222381
Status : Answered
Chosen Option : B
Q.39
Form factor of which of the following circuit is Zero?
a) Capacitance
b) Inductance
¢) Resistance
d) Both a) and b)
Ans X A a
& B.b
X C.c
« D.d

Question ID : 1703222390
Status : Answered
Chosen Option: C




Q.40

In automatic star delta starter, the motor starts in star bur do not change over to delta, The
reason for this anomaly is due malfunction of

a) Over load relay.
b) Push Button actuator
¢) Main contactor
d) Timer
Ans X A a
X B.b
X C.c
" D.d
Question ID : 1703222358
Status : Answered
Chosen Option: D
Q.41
‘Which of following is not the cable specification.
a) Voltage rating
b) Conductor material
¢) Number of strands
d) Dielectric loss
Ans X A a
& B.b
X C.c
" D.d

Question ID : 1703222392
Status : Answered
Chosen Option: D




Q.42

When primary of a transformer is connected to Direct Current (DC)
a) Primary draws small current

b) Primary leakage reactance is increased

¢) Core losses are increased

d) Primary may draw heavy current

Ans X A a

X B.b

X C.c

« D.d

Question ID : 1703222343
Status : Answered
Chosen Option: D

Q.43

In an electromechanical indicating instrument, force used to prevent the oscillation of
pointer quickly is

a) Deflecting force

b) Controlling force

¢) Damping force

d) Newton force

Ans X A a
X B.b
o« C.c
X D.d

Question ID : 1703222379
Status : Answered
Chosen Option: C




Q.44

Non-metallic conduits are made from

a) PVC

b) Fibre

¢) Botha)andb)

d) None of the above

Ans X A a

X B.b

" C.c

& D.d

Question ID : 1703222396
Status : Answered
Chosen Option : A

Q.45

HIYT IGEHR gRT THH HTd Tobd ! Sl 3 Bt &dl g GHH (a9 Hebd o) FAad
TR Gl & ded 9R-9R YEHT fhar S §

a) ARl

b) Tayzaar
c) agYH g
d) IWwadd

Ans X A a
X B.b
" C.C
& D.d

Question ID : 1703222387
Status : Not Answered
Chosen Option : —




Q46 pyygfygy & SRS S ERT ST STRATET ST aifiimad RReR fudi dieear aan s ?
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4 :1 | )
I L > {
Vin = || ¢ -
240Vppac | g Vout
60Hz = SR l
‘ e ‘
a) 120V
b) 60V
c) 40V
d) 30V
Ans X A a
X B.b
X C.c
o D.d

Question ID : 1703222367
Status : Answered
Chosen Option : B

Q.47
In AC circuits, ratio of KW to the KV A represents .
a) Form factor
b) Peak factor
¢) Power factor
d) Load factor
Ans X A a
& B.b
« C.c
& D.d

Question ID : 1703222395
Status : Answered
Chosen Option: C




Q.48
¥ =R iR & 9 & SR Uhd BRAT BT & af

a) HIeX &l IRUI HIeR |1 Iadl § 3R IR 39 ¥ S HIA1 ©
b) Gl R0 Hied UR Feldll W@ WR alS gl el

) T W W AT = YR & BRI TP SIS GHET &
d)y g UG

Ans X A a
X< B.b
' C.C
X< D.d
Question ID : 1703222357
Status : Answered
Chosen Option : B
Q.49
Potential reference of earth for earthing is always considered to be
a) Infinite V
b) OV
c) 230V
d) 110V
Ans X A a
" B.b
X Cc
< D.d

Question ID : 1703222376
Status : Answered
Chosen Option : B




Q.50

Megger is used to measure
a) Earth resistance
b) Insulation resistance
¢) Breakdown voltage of insulation
d) Tan Delta

Ans X A a
« B.b
X C.c
& D.d
Question ID : 1703222366
Status : Answered
Chosen Option : B
Q.51
The condition of electrolyte in a battery is measured in terms of:
a) voltage output
b) specific gravity
¢) acid contents
d) current value
Ans X A a
« B.b
X C.c
& D.d

Question ID : 1703222350
Status : Answered
Chosen Option : B




Q.52

The synchronous speed of an induction motors refers to the speed of the

a) Rotor

b) Armature

¢) Rotating magnetic field

d) Value marked on the name plate

Ans X A a
X B.b
o C.c
X D.d
Question ID : 1703222359
Status : Answered
Chosen Option: C
Q.53
T uffeR yasda 3= &1 ary afer H
a) Up DA
b) o=
SREEILGRIRE
d) U 3 sfds
Ans X A a
& B.b
X Cc
o D.d

Question ID : 1703222368
Status : Not Answered
Chosen Option : —




Q.54

Select the false statement about the delta connection system from following.

a) Delta connection is a 3 wire system

b) Delta connection has a neutral line

¢) Delta connection is used for short distance
d) Delta connection is used for distribution

Ans X A a
" B.b
X Cc
& D.d
Question ID : 1703222391
Status : Answered
Chosen Option : A
Q.55
By laminating core of transformer, we reduce
a) Leakage Reactance
b) Eddy Current losses
c) Copper losses
d) Hysteresis losses
Ans X A a
' B.b
X C.c
/< D.d

Question ID : 1703222345
Status : Answered
Chosen Option : B




Q.56

H3dl b3 Bl IS &

a) =R g

b) wafa sfiaE

¢) @Hla)Udb)

d) SR T AP T8l

Ans # Aa

X B.b

X Cc

& D.d

Question ID : 1703222399
Status : Answered
Chosen Option : A

Q.57

415 V, Tl womelt & fore frd U & uiuy 9aR o1 ST fhar o & 2

a) 91 aRuy WS
b) TYAH ddl URTY 1TH
¢) SF6 uRuy s
d) fafaufkoy e

Ans A a
< B.b
X C.c
/< D.d

Question ID : 1703222364
Status : Answered
Chosen Option : B




Q.58

Ans

Frafafad afvoy 5 9d 3 emefid 4R &1 adr o
P e o

=
VWA

w

D
W

w

D
A

D

15V T-

a) 3A
b) 1.3636 A
c) 5SA
d) 10 A

X Aa
& B.b
' C.c
& D.d

Question ID : 1703222388
Status : Answered
Chosen Option: C

Q.59

Ans

Wheatstone bridge is said to be balance when voltage across its output terminal is
a) zero Voltage
b) Positive voltage
¢) Negative voltage

d) Infinite voltage

o A a
X B.b
X C.c
& D.d

Question ID : 1703222386
Status : Answered
Chosen Option : A




Q.60

50 Hz syl & wenfera i arvr 415 v Ssaarq g2 6 5 % e g | o goie dieed griufa
forre o ol uufs &t oa v

a) 150
b) 100
c) 250
d) 2.5

Ans @ Ala
X B.b
X C.c
& D.d

Question ID : 1703222355
Status : Answered
Chosen Option: D




